Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

"“15‘1*36331

(05 Marks)
nt LTE interface and 3GPP
structure? { a (08 Marks)

Differentiate between outed model and local breakc t model supported for SAE.
> (07 Marks)

K

With a system architecture, explain 3GPP and ndn—GGPP access network. (08 Marks)
What are the limited QoS parameters, ﬁar the L/ B %gcmﬂcatlon? (06 Marks)
What are user equipment, trusted)and \trusted non-3GPP access network? With an
example. ; (06 Marks)

Explain basic concept of MIMO prmcqﬂ w1t a 2-by-2 antenna configuration. (06 Marks)
xplain data transmission with resource
s (08 Marks)
I on PUCCH. (06 Marks)

blocks onto physical PUCCH

(06 Marks)
[llustrate the uplmk tlmmg ‘uncertainty windows for RAC preamble with considerable
(06 Marks)
Explain PDCCH rhannel codmg cham for downlmk dlrectlon 3n downlmk transmission
(08 Marks)

\\‘Slcal layer procedure — power control timing advance and "{dndom access in
a LTE syst“é’ ; " (08 Marks)
.7 (05 Marks)
<in“the MAC
<{07 Marks)

,,Ti;‘Wlth MAC layer, explain how downlink and uplink channels are mapped with loglcai\ aqd
transport channel.

Explain different types of RLC mode of operation in acknowledged mode “a

unacknowledge mode. (07 Marks) "
Explain the PDCP layer operations and key functionalities associated with PDCP SDU.
(0S5 Marks)
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meant by self driven minimization of drive test? Mentlon the Key issues and
i (07 Marks)
(07 Marks)
(06 Marks)

! (08 Marks)
ra-frequency handover.

(08 Marks)
(04 Marks)

i W 1th HARQ management. (08 Marks)
ink adaption unit and other uplink RRM.

Explain about layer 2 schedulmg and link adaptat_.
Explain Interworking between packet scheduling

-3 { (08 Marks)
Explain about DRx parameter and i (04 Marks)
Explain about Downlink budget param . (08 Marks)
Explain about uplink system performanc 'fOr the’spectral efficiency. (08 Marks)

Estimate the maximum traffic volume:ft Tx mension for 1+1+1 at 20MHz. (04 Marks)
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